Spring 2009   Study Guide –Test Questions Chapters 3-4

Chapter 3

1. what wasn’t intelligence related to ?
   A) reading             b)  grammar

   c)  vocabulary         d)  oral  production skill

2.  If someone cannot learn something until they have seen it , what kind of this  

    Learning style?

a)  visual               b)   aural

c)  kinaesthetic          d)  tactile
3.  what can’t belong to personality characteristics?
   a)  inhibition           b)  anxiety

   c)  self – esteem       d)  interaction 

4. Inhibition is often considered to be a particular problem for adolescents, who are more self –conscious than younger learners.

 Is this true or false?  ( True    or    False )

5. learners’ instructional preference will not influence the kinds of strategies they use in trying to learn new material.
 Is this true or false?

Chapter  4

1.based on interlanguage, learners have bursts of progress then seem to reach a plateau for a while before something stimulates further progress. What did Larry Selinker refer to the fact?

 a)  systematic              b)  dynamic

 c)  fossilization             d)  developmental sequence

2. According to the Contrastive Analysis Hypothesis (CAH), errors were often assumed to be the result of transfer from learner’s first language.
Is it true or false ?

3.  what kind of the error which caused by trying to overuse a rule in a context where it does not belong?

a) omission error            b) substitution error

c) overgeneralization error   d) addition error

4. what is the study of how language is used in context to express such things as directness, politeness and deference 

 a)  pragmatics              b)  inference

 c)  syntax                  d)  morphology

5. Most everyday conversation requires a far smaller number something more like  200 words. Is this true or false?

Chapter 3

1. Integral motivation is language learning for personal growth and cultural enrichment. (T)

2. Qualitative research on personality variables is about paradigm, an approach that relies heavily on measuring learners’ scores on personality questionnaires and relating these to language test performance.  (F)

3. There are list on learner characteristics. Which is not correct?  (3)

1) Intelligence

 2) Aptitude

 3) Age

 4) Motivation

4. There are important characteristics of good learners in second language learning, which is inappropriate?  (3)

 1) begins learning in childhood

 2) has an above-average IQ

 3) is willing to make errors

 4) practices as often as possible

5. Which is not about aptitude? (1)

 1) understand the function of particular sounds in word.  

2) identify and memorize new sounds. 

 3) figure out grammatical rules from language samples. 

4) remember new words. 

Chapter 4

1. First and second language acquisition are best described as developing systems with their own evolving rules and patterns, not as imperfect version of the target language.  (T)

2. Unlikely the study of grammatical morphemes, negation, and questions, the study of relation clause was inspired by research on child language.  (F)

3. There are list below are about studies the language of second language. Choose one thing incorrect. (2)

1) Interlanguage - learners’ developing second language knowledge

2) Fossilization – some features in a learner’s language may developing without stopping.

3) Error Analysis – discover and describe different kinds of errors in an effort to understand how learners process second language data. 

4) Contrastive Analysis – errors were often assumed to be the result of transfer from learners’ first language.  

4. Below there is some error in the sentence. Which is not related? (4)

Example(Chinese first language, adult) : They plays

1) Developmental error

2) Overgeneralization

3) Simplification

4) Interlanguage

5. There is a krashen’s summary of second language grammatical morpheme acquisition sequence. Which is not appropriate in blank?   (1)

Fist step : -ing(progressive) plural copula(‘to be’)

Second step : auxiliary(progressive as in ‘He is going’) article

Third step : irregular past


1) Plural –s

2) Regular past ‘ed’

3) Third person singular –s

4) Possessive ‘s

Lesson 3. 

(3 multiple choice questions)

1. Find the answer which categorized them right.

	1) Learning English will enable me to travel many countries and have chances to talk with people there.

2) I study English because the university I want to go asks for the English score.

3) I want to make friends with English-speaking people.

4) Learning English will let me read books in English for information and pleasure. 

	Types
	Integrative
	Instrumental

	Extrinsic
	A
	B

	Intrinsic
	C
	D


1) A-3 B-4 C-2 D-1 2) A-1 B-2 C-3 D-4 2) A-2 B-3 C-4 D-1 4) A-4 B-3 C-2 D-1

2. What is this?

	The _____ is that there is a time in human development when the brain is predisposed for success in language learning.


1) intelligence 2) accuracy order 3) critical Period 4) comprehensible input

3. What is this?

	One aspect of personality is that has been studied is _____. It has been suggested that ______ discourages risk-taking, which is necessary for progress in language learning. This is often considered to be a particular problem for adolescents.


1) inhibition 2) anxiety 3) self-esteem 4) talkativeness

(2 true and false questions)

1. Children are not as sensitive as adults to social dynamics and power relationships. (F)

2. It might not be possible to increase levels of motivation for students in relation to pedagogical practices. (F) 

Lesson 4. 

(3 multiple choice questions)

1. In which stage does the student seem to be?

	S: Many fist are in the lake. These fish are serving in the restaurants near the lake.

T: Sorry? These fish are…?

S: Served. These fish are served in the restaurants near the lake.


1) presystematic 2) emergent 3) systematic 4) stabilization 

2. What is this?

	The concept of _____ involves the following premises about L2 acquisition.

First, learner constructs a system of abstract linguistic rules which underlies comprehension and production of the L2.

Second, The learner’s grammar is permeable.

Third, The learner’s grammar is transitional.


1) zone of proximal development 2) interlanguage 3) constrastive anaylsis 4) acquisition sequence 

3. What are these explanations about?

	1) The study of how second language learners develop the ability to express their intentions and meanings through different speech acts.

2) Studies were done to describe the ways in which learners expressed speech acts such as inviting and apologizing in relation to differences in their proficiency level or their first language background. 


1) phonology 2) fossilization 3) acquisition sequence 4) pragmatics 

(2 true and false questions)

1. An educated adult speaker of English is believed to know at least 20000 words. Fortunately, most everyday conversation requires a far smaller number, something more like 2000 words. (T)

2. Among the factors that make new vocabulary more easily learnable by second language learners is the frequency. (T)

CH  3

1. Patkowski found that ________________ of acquisition is a very important factor in setting limits on the development of native-like mastery of a second language and that this limitation does not apply only to accent.

1) age     2)  intelligence   3) aptitude    4)  personality

2. Robert Gardner and Wallace Lambert coined the terms _________________motivation that means ‘language learning for more immediate or practical goals.’

1) choice     2)  executive     3)   integrative     4)  instrumental

3. Which one is wrong about Mark Patkowski?

1) He studied the relationship between age and the acquisition of features of a second language other than accent.

2) He hypothesized learners who had begun learning L2 after the age of fifteen could achieve mastery of L2.

3) It is most often claimed that the critical period ends somewhere around puberty.

4) The results of Patkowski’s research gave added support to the CPH for second language acquisition.

4. O.X quiz

IQ tests may be more strongly related to metalinguistic knowledge than to communicative ability.

5. OX quiz

An extroverted person definitely gets better result in L2 acquisition than the quiet observant learner.

CH  4

1. Which one is wrong?

1) According to the CAH, errors were often assumed to be the result of transfer from learners’ first language.

2) The goal of CAH was to discover what learners really know about the language.

3) Analysis of Interlanguage shows that it has some characteristic influenced by previously learned languages.

4) EA didn’t set out to predict errors.

2. Selinker coined the term ____________ to refer to the fact that, some features in a learner’s language may stop changing.

1) Fossilization     2) developmental error    3) omission    4) simplification

3. How many words are required for most everyday conversation? (a threshold vocab. level)

1) 1,000       2) 2,000     3) 10,000     4) 20,000

4. OX Quiz

Many aspects of developmental stages are similar among L2 learners from many different first language backgrounds.

5. OX Quiz

The study of how second language learners develop the ability to express their intentions and meanings through different speech acts (for example, requesting, refusing, apologizing etc.) is referred to as interlanguage pragmatics.

Chapter3. Individual difference in second language learning

True – False Question

Q.1) ‘Willing to make mistakes’ can be considered a personality characteristic. It might also be seen as an aspect of motivation if learner is willing to make mistakes in order to get a message across.

- TRUE 

Q.2) Decisions about the age at which instruction should begin can be based solely on evidence for the CPH - FALSE

Multiple Choice Question 

Q.3)  Which is the BEST matched Learner’s Characteristics? 

① Intelligence •             [image: image1.png]


• A person who wants to learn quickly with greater speed and ease 

② Aptitude     •             • An individual’s natural way of absorbing new information

③ Motivation   •              • IQ scores were a good mean of predicting success in SLA learning

④ Personality  •              • An extroverted person is well suited to language learning 

⑤ Learning style •             • It is considered that learner’s communicative needs and attitudes

Q.4)  Which one is NOT included in the example of age of acquisition?

① Children from immigrant families speak the language of their new community with native like fluency, while their parents often fall short of such high levels of mastery of the spoken language.

② Adults in informal language learning environments usually have more time to devote to learning language than younger learners.

③ The innate biological structures believed to contribute to first language acquisition or second language acquisition early childhood, rather older learners may depend on more general learning abilities.

④ Older learners are more likely to find themselves in situations that demand more complex language and the expression of more complicated ideas.

Q.5)  Which is NOT included in motivating students in classroom?

① Motivating students into the lesson

② Varying the activities, tests, and materials

③ Using competitive goals rather than co-operate

④ Using cultural and age difference 

Chapter4. Learner language

True – False Question

Q.1) Contrastive analysis helps to explain some aspects of first language influence on second language learners’ phonological development. For instance, Japanese and Korean learners of English often have problems hearing and producing l and r because these sounds are not distinct in their language.- TRUE

Q.2) Fossilization refers to the fact that, some features in a learner’s language may stop changing. For instance, a person keep says “Mom is in the chicken.” rather than kitchen.- TRUE 

Multiple Choice Question

Q.3)  Which is the best described Negation stages?


① 2 – 3 – 1 – 4 

② 2 – 4 – 3 – 1

③ 2 – 4 – 1 – 3

④ 2 – 3 – 4 – 1

Q.4)  Which sentence is NOT the best described below table?

	List 1
	List 2
	List 3

	Friend
	Taxi
	Remarkable

	Town
	Coke
	Responsibility


	Book
	Pizza
	Government

	Night
	Dollar
	Elementary

	Smile
	Internet
	Description

	Box
	Hotel
	Preparation

	Sing
	Hamburger
	International

	Town
	T-shirt
	Dictionary

	Hunt
	Disco
	Expression


① Words in List 1 are not likely to be known to students who have not had previous instruction in English or exposure to the language outside of school.

② Some students who have never studied might already know words in List 2, because they are part of an international vocabulary.

③ Words in List 3 are rather long, not easily illustrated, and most are fairly infrequent in the language.

④ With increasing internationalization of communications, many languages have ‘borrowed’ and adapted words from other languages such as words in List 1.

Q.5)  Among ERRORS in developmental sequence, which concept and example is NOT well matched?

① Grammatical morphemes – Yesterday I play baseball for two hours.

② Questions – Where the children are playing?

③ Possessive Determiners – She looked her father and cried.

④ Negation - I no like it.
Chapter3

Multiple Questions

1. Which one is not considered as a good learner? (3.4)

1 Who is willing to make a mistake

2 Who enjoys grammar exercise.

3 Who practices occasionally

4 Who begins learning in puberty.

5 Who has an above average IQ.

2. Which one is the Gardner’s multiple intelligences?(1.4.6)

1 The area of music

2 Ability of art skill

3 IQ

4 Verbal intelligence

5 Social relationships

6 Athletic

3. Which one is not motivate students?(3.4)

1 Sets a goal for class

2 Variety of activities

3 Competitive goals

4 Testing

5 Co-operate class
Truth and False Question

4. For the early stage of L2 acquisition, children are the fastest learners.(F)

5. For good age for L2 learning is the time when children complete development of the child’s first language.(T)

Chapter4.

Multiple Questions

1. Which one is not include Contrastive Analysis Hypothesis(CAH)? (4)

1 French speakers leaning English and English speakers learning French would be parallel linguistic features.

2 CHA would predict that a native speaker of English might make the error of saying.

3 Errors were often assumed to be the result of transfer from learner’s first language.

4 French Speakers learning English more likely to make predict error than English speaker learning French.

2. There are about the errors that L2 learners occur which one is not correct? (3)

1 Interlanguage shows that it has some charactorastics influenced by previously learned language.

2 Interangluage includes omission and grammartical morphems.

3 Fussilization refers to factor that, some features in learner’s language can stop changing in learner’s will.

4 Overgeneralization is errors caused by trying to use a rule in a context where it does not belong.

3. L2 Learners also has developmental sequences, which one is incorrect answer for L2 Sequences?(4)

1 There are similar developmental sequences that are similar in the developing interlanguage of learners from different background.

2 The accuracy order of grammatical morphemes is very similar among the second language learner.

3 The acquisition of negative sentences by second language learners follows a path that looks nearly identical to the stages as L1 acquisition.

4 The acquisition if Questions by Second language learners exactly same as the one observed in first language acquisition.

5 In Relative clauses, first language influences is seen in the errors learners make.

Truth and false questions

4. For the educated adult speaker of English is believe to know at least 20000 words(T)

5. Research on the teaching of pragmatics has demonstrated that pragmatic features can be successfully learned in implicit setting.(F)

Chapter 3. 

1. Choose the one thing that doesn’t contain learner’s characteristics.

(1) Aptitude (2) personality (3) Intelligence (4) nationality (5) motivation

2. Select the one thing it doesn’t relate to the Critical Period Hypothesis.

  (1) Mark Patkowski studied the relation between age and the acquisition of features of a second language other than accent.

  (2) There is a time in human development when the brain is predisposed for success in language learning.

  (3) Some studies of the second language development of older and younger learners, learning in similar circumstances, have shown that, even in the early stages of second language development, young learners are more efficient than older learners.

  (4) The homogeneity of the pre puberty learners seemed to suggest that success in learning a second language was almost inevitable.

3. When research on learner characteristics, the correlation procedure requires careful interpretation. Which is not a problem?

  (1) It is not possible to directly observe and measure variables such as motivation, extroversion, or even intelligence.

  (2) The relationship between individual learner characteristics and second language learning is how language proficiency is defined and measured. 

  (3) In interpreting correlations is the conclusion that one of the variable causes the other.

  (4) The language proficiency tests used in different studies measures the same kind of knowledge.

4. Learner’s belief affects learning and language acquisition. (T)

5. Learning style used to describe an individual’s natural, habitual, and preferred way of absorbing, processing, and retaining new information and skills. (T)

Chapter.4

1. Which is wrong about Contrastive Analysis Hypothesis?

(1) Errors were often assumed to be the result of transfer from learners’ first language

(2) CAH would predict that, where differences exist, errors would be bi-directional.

(3) Researchers have found that learners make all errors predicted by the CAH.

(4) Where the fist language and target language is similar, learners should acquire target language structure with ease.

2. Which is described definition?

  - Some features in a learner’s language may stop changing. This may be especially true for learners whose exposure to the second language does not include instruction or the kind feedback that would help them to recognize.

 (1) inter-language  (2) fossilization (3) development sequence (4) negation

3, Which is wrong to describe development sequences?

  (1) Second language learners pass through sequence of development:what is learned early by one is learned early by others

  (2) Second language learners already know another language that has different patterns for creating sentences and word forms.

  (3) It is different in the developing inter-language of learners from different background and also different to those observed in first language acquisition.

  (4) The features of the language that are heard most frequently are not always easiest to learn.

4. CAH comes from behaviorism in 1970s. (T)

5. Errors of overgeneralization caused by trying to use a rule in a context where it does not belong (T)

Chapter 3

1. What is not the one of the individual differences which effects on second language learning?

① Intelligence ② Learning Styles ③ Personality ④ Social environment ⑤ Motivation and Attitude

2. IQ tests may be more strongly related to (     ⓐ       ) than to (      ⓑ      ).

Please find out the correct answer in these blanks.

① ⓐ Background knowledge ⓑ Educational ability

② ⓐ Metalinguistic knowledge ⓑ Communicative ability

③ ⓐ Societal benefits ⓑ Communicative ability

④ ⓐ Learning styles ⓑ Interactive ability

⑤ ⓐ Communicative ability ⓑ Background knowledge

3. The tests (MLAT & PLAB) are based on the view that aptitude has several components and can be measured some abilities. Please find out the incorrect answer about the explanation of the tests.

① The ability to identify and memorize new words

② The ability to understand the function of particular words in sentences

③ The ability to use and apply new words

④ The ability to figure our grammatical rules from language samples

⑤ The ability to remember new words

4. The Critical Period Hypothesis is that there is a time in human development when the brain is predisposed for success in language learning. (T)

5. Most studies of the relationship between age of acquisition and second language development have focused on learners’ grammar. (F)
Chapter 4

1. In children’s knowledge of the grammatical system, grammatical morphemes such as the –ing of the present progressive or the –ed of the simple past are acquired at the same time. (F)

2. Whish one is not the explanation about interlanguge?

① Larry Selinkwl (1972) gave the name interlanguage to learners’ developing second language knowledge.

② It has some characteristics influenced by learned language in the future. 

③ It has some characteristics of second language and some characteristics. 

④ It seems to be general and to occur in all or most interlanguage system.

⑤ It has been found to be systematic but it is also dynamic.

3. This error is where elements of a sentence are left our or where all verbs have the same form regardless of person, number, or tense. What kind of error is described?

① Simplification

② Omission

③ Over generalization

④ Substitution

⑤ Addition

4. The first language may influence learners’ interlanguage in other ways as well. The phenomenon of (           ) that Jacquelyn Schacheter (1974) described appeared to be caused at least in part by learners’ perception that a feature in the target language was so distant and different from their first language that they preferred not to try it.

Which one is the one for the blank?

① Difference

② Adaption

③ Similarity

④ Avoidance

⑤ flexibility

5. Fortunately, most everyday conversation requires a far smaller number, something more like 20,000 words. (F)

Fill in the blank with appropriate words

1.The term learning style has been used to describe an individual's natural,habitual, and preferred way of absorbing, processing, and retaining new information and 

 skills. We have all heard people say that they cannot learn something until they have seen it. such learners would fall into the group called '          ' learners. 

other people , who may be called '           ' learners. seem to learn best by ear. for others,referred to as '            ' learners.physical action such as miming or 

role-play seems to help the learning process. These are the referred to as '              '  based learning style.

   1. visual. aural. kinaesthetic, perceptually                           2. aural , visual. kinaesthetic, empirically

   3. kinaesthetic, visual. aural, perceptually                           4. visual, aural, kinaesthetic , emirically

2. Robert Gardner and Wallace Lambert coined the terms '                   ' (language learning for more immdeiate or practical goals)  and '                   ' (language

   learning for personal growth and cultural enrichment. resurch has shown that these types of motivation are related to success in second language learning.

  1. internal motivation , external motvation                           2. instrumetal motivation, intergrative motivation

  3. intergrative motivation, instrumetal motivation                   4. external motivation.  internal motivation

3. Zoltan Dornyei developed a process-oriented model of motivation that consists of three phases. the first phase, '                  '  refers to getting started and to 

  setting goals, the second phase, '                 'is about carrying out the necessary tasks to maintain motivation,and the third phase , '                     '

  refers to students' appraisal of and reaction to their performance.

 1. motivation retrospection , choice motivation, executive motivation         2. executive motivation, choice motivation, motivation retrospection

 3. motivation retrospection, executive motivation, choice motivation          4. choice motivation, executive motivation, motivation retrospection

      Tor  F 

4. Using co-operative rather than competitive goals co- operative learning activities are those in which student must work together in order to complete a task

   or solve a problem. These techniques have been found to increase the self- confidence of students, including weaker ones, because every participant

  in a co-operative task has an important role to play.                              (     )

5. Patkowski  found that age of acquisition is a very important factor in setting limits on the develpment of native-like mastery of a second language and this

   limitation does not apply only to accent . these results gave added support to the creitical period hypothesis for second language acqusition.  (    )

  Fill in the blank with appropriate words

6.  (                     ) different from (                      ) in that it did not set out to predict errors . rather it sought to discover and describe different kinds of errors 

   in an effort to understand how lerners process second language data

             1. Discourse analysis,  error analysis                  2. Error analysis, contrastive analysis

             3. Contrastive analysis, error analysis                  4. Contrastive analysis  discourse analysis

7. Paul Nation reviews a number of studies suggesting that a learner needs to have many meaningful encounters with a new world before it becomes firmly

   established in memory. the estimates range as high as (            ) times  in some studies.

   Some words have a clear resemblance to their translation equivalent in other  languages.- not just romance language with shared Latin origins. words that

   look similar and have the same meaning in two languages are called  (              )

             1. six      coined            2. sixteen, cognates        3. six      cognates      4. sixteen , coined

8. (             ) is the study of how language is used in context to express such things as directness , politeness, and deference.

    (              ) was a central component in language teaching during the audiolingual era

           1. Pragmatics, Pronounciation    2, Syntax,  Morphology    3. Semantic, Syntax           4. Pronunciation, Pragmatics

             T or F

9.  Like first language , second language learners do not learn language simply through imitation and practice                   (     )

10. According to the error analysis, errors were often assumed to be the result of transfer from learner's first language.        (     )
Chapter 3~4
1. IQ scores are a good means of predicting success in second language learning.  (T)

2. If learners seem to be in conflict with the pedagogical approach we have adopted, we need to show their wrong way and help to change their learning styles. (F)

· Instead, we should encourage learners to use all means available to them.

3. There are 4 statements about “Age of acquisition”. Please tick the wrong explanation.

A. The age of acquisition is easier to define and measure than personality, aptitude or motivation.

B. The age of acquisition is related to the learners’ pronunciation strongly.

C. The age of acquisition is a very important factor in setting limits on the development of native – like mastery of a second language.

D. Early intensive exposure to the second language helps learners to develop the first and second language skills.

· (D) This causes the loss or incomplete development of the child’s first language.

4. What is the below example for?

For instance, in a survey of adult international students in a communicative ESL program, Carlos Yorio(1986) found high levels of dissatisfaction among the students. The type of communicative instruction they received focused exclusively on meaning and spontaneous communication in group-work interaction.

A. Motivation  B. Attitudes  C. Lerner beliefs D. Personality

· (C)

5. Tick the right arrangement about Instrumental motivation and Integrative motivation.

ⅰ. I studied English for a high score on the final exam. 
ⅱ. He tries to talk with foreigners in English for development of language skills.
ⅲ. We can see the achievement fast while we can lose the achievement easily.
ⅳ. It takes a long time to get a goal but we are able to remember for a long time.
Instrumental motivation    Integrative motivation 
A.            ⅰ ⅱ                     ⅲ   ⅳ

B.            ⅰ ⅲ                     ⅱ   ⅳ

C.            ⅱ ⅳ                     ⅰ   ⅲ

D.            ⅱ ⅲ                     ⅰ   ⅳ

· (B)

6. All errors made by second language learners can be explained in terms of first language transfer alone. (F)

7. The development of grammatical morphemes by learners of English as a second language is not identical to the sequence found for first language learners, is similar among second language learners from different first language backgrounds. (T)

8. There are 4 statements. Please tick the sentence which ‘Paul Nation’ did not mention when he reviewed the research on vocabulary acquisition.

A. More encounters may be needed before a learner can retrieve the word in fluent speech or automatically understand the meaning of the word when it occurs in a new context.

B. Repeat the word 16 or more times.

C. We can acquire the word effectively via a lot of activities.

D. Listen carefully when you hear the word.- D

9. Please tick the threshold vocabulary level.

A. 2000    B. 1500    C. 1000    D. 500 A

10.  What is the example for?

For instance, studies were done to describe the ways in which learners expressed speech acts such as inviting and apologizing in relation to differences in their proficiency level or their first language background.

A. Phonology    B. Pragmatics     C. Semantics    D. Phonetics

· B

1. IQ tests may be more strongly related to metalinguistic knowledge than to communicative ability. (T/F)

2. It would be better to change a learner’s learning styles if they are in conflict with the pedagogical approach the teacher have adopted. (T/F)

3. Which of the following is connected correctly?



① A-a            ②A-b           ③B-a           ④B-c            ⑤C-c

4. Which type of motivation is explained in the passage below?


1 instrumental motivation  ② integrative motivation 

③  intrinsic motivation      ④ extrinsic motivation 

5.  Read the passage below. Which one would be most appropriate?


1 Inhibition     ② risk-taking     ③ motivation     ④ tension     ⑤aptitude

<Chapter 4>

1. An increase in error can be an indication of progress.(T/F)

2. Both first and second language acquisition are best described as imperfect versions of the target language. (T/F)

3. What’s the source of the errors below?

  

1 communication strategies       ②  context of learning

③  developmental error            ④  L1 transfer

⑤  interlanguage 

4.  Which concept would be right for (A)?


①language ego    ②self-esteem     ③intelligibility     ④pronunciation    ⑤empathy

5. Choose the right word in the blank. 


①backsliding            ②fossilization          ③overgeneralization  

④simplification          ⑤avoidance 

Chapter 3

1. From the following aspects, what is believed the relatively more important characteristics than others? 

a. intelligence   b. learning style   c. personality   d. age of acquisition

2. What is not proper to be contained in the personality for the learning second language?

a. self-esteem   b. empathy    c. aptitude  d. responsiveness

3. Up to now, what is the assumed critical period for the SLA?

a. 7    b. 10.   c. 12   d. 15

4. The anxiety in the learning language can affect greatly the learning. (     )

5. Identity and ethnic group affiliation can affect motivation, attitudes, and language learning success. (    )

Chapter 4. 

1. From the followings, what is not the Studying the language of second language learner? 

a. Developmental sequence error  b. Contrastive analysis 

c. error analysis                   d. interlanguage 

2. What is not the characteristics of the interlanguage?

a.  systematic   b. dynamic   c. developmental    d. variable

3. How many words are usually required to live the daily life? 

a.  2,000   b. 3,000   c. 4,000   d. 5,000

4. It is proved that the vocabulary development is not so important for the SLA learner than syntax or morphology. (     )

    5. The study of how second language learners develop the ability to express their intentions and meanings through different speech  acts  is referred to interlanguage pragmatics. (    )   

Answer key 

Chapter 3.  

1. d   2. c   3. d   4. O    5. O

Chapter 4. 

1. a   2. c   3. a   4. X    5. O 

1) Robert Gardner and Wallace Lambert coined the INSTRUMENT MOTIVATION (language learning for personal growth and cultural enrichment) and INTERGRATIVE MOTIVATION (language learning for more learning for more immediate or practical goals).  (   )

2) Contrastive Analysis Hypothesis is that there is a time in human development when the brain is predisposed for success in language learning. (   )  

3) What could be defined learners’ communicative needs and their attitudes towards the second language community?

① personality ② motivation ③ learner beliefs ④ learning style

4) By Patkowski, what is very important factor in setting limits on the development of native-like mastery of a second language?

① learner belief ② motivation ③ age of acquisition ④ inhibition

5) Which of the following best fit in the blank below?

There are a difference between learners who began to learn English before (        )

And those who began learning English later.

1 puberty ② childhood ③ manhood ④ infancy

1) This error caused by trying to use a rule in a context where it does not belong, for example, the –s ending on the verb in ‘they plays’. What is this error?

① simplification ② omission ③ overgeneralization ④ substitution

2) For those who are familiar with the English spoken by native speakers of French, some of the errors (for example, preposition choice ‘in the same time’) made by the first learner will be seen as probably based on French. What is this error?

① addition ② interlanguage ③ inference ④ developmental error

3) This term is used to describe a persistent lack of change in interlanguage patterns, even after extended exposure to or instruction in the target language. What is this term?

① transfer ② fossilization ③ developmental sequence ④ inference

4) All errors made by second language learners can be explained in terms of first language transfer alone. (    )

5) The phenomenon of ‘avoidance’ described appeared to be caused at least in part by learners’ perception that a feature in target language was so distant and different from their first language that they preferred not to try it. (    )

Chapter 3 

1. What is not mentioned as categories for the characteristics of good learners? 

a) motivation  b) personality  c) learning performance  d) intellectual abilities 

2.  Choose the right answer for the blank 

One of the pioneers in this area John Carroll has characterized  ________________ 

in terms of the ability to learn quickly 

a) intelligence      b) aptitude    c) behaviour     d) innatist  

3. What is about language learning for more immediate or practical goals? 

a) interlanguage motivation   b)  instrumental motivation   c) intergrative motivation 

d) environmenta motivation 

4. Mark Patkowski hypothesized that, even if accent were ignored, only those who had begun learning their second language before the age of fifteen could ever achieve full, native like mastery of that language  (T/F) 

5. IQ tests maybe more strongly related to communicative ability than to metalinguistic knowledge.  (T/F) 

Chapter 4 

1. According to CHA, errors were often assumed to be the result of transfer from learners' second language    (T/F) 

2. Fossilization to refer to the fact that, some features in a learner's language may stop changing     (T/F) 

3. What kind of error is this sentence explaining? 

It has some characteristics influenced by previously learned languages some characteristics of the second  language such as the omission of function words and grammatical morphemes 

a) generalization   b) developmental error  c) interlanguage  d) overgeneralization  

4. What can't be helpful to make second language learners to be more successful in vocabulary development? 

a) activities that require learners to attend carefully to the new words 

b) activities to use new vocabulary in productive tasks 

c) reading for pleasure 

d) activities to develop interlanguage 

5. Choose the right answer for the blank 

A through review of all the ________________ studies shows that the learner's first language does have on influence on acquisition sequences 

a) morpheme  acquisition   b) contrastive analysis  hypothesis  

c) accuracy order     d) pragmatics 

Ch3

1. Kids (age 3~10) are surely faster to learn second language than adults or adolescents.         T  or  F

2. Howard Gardner suggests that people have individual intelligences.  T  or  F 

3. Which of the following best fits in the blank below?
Another aspect of personality that has been studied is ___________. It has been suggested that ____________ discourages risk-taking, which is necessary for progress in language learning. This is often considered to be a particular problem for adolescents, who are more self-conscious than younger learner.

① self-esteem 

② empathy

③ language ego

④ inhibition

⑤ motivation

4. Which one is not correct about activating motivation in classroom?

① Introducing about the topic at the opening stages of lessons.

② Varying the activities, tasks, and materials.

③ Using co-operative rather than competitive goals. (It can depend on culture or age)

④ Giving easy task rather than difficult task.  

⑤ Attracting learner’s attention by showing pictures.

5. Which of the following best fits in the blank below?

The term ________________ has been used to describe an individual’s natural, habitual, and preferred way of absorbing, processing, and retaining new information and skills (Reid 1995). Some people are visual learners, others are aural learners. And people have different cognitive _________________. Individuals have been described as field independent or field dependent.  
① Motivation

② Intelligence

③ Aptitude

④ Personality

⑤ Learning style
Ch4

1. According to the Contrastive Analysis Hypothesis, errors were often assumed to be the result of transfer from learners’ second language.           T or F

2. Fossilization means that learner’s language may stop changing.  T or F

3. Which one is incorrect about interlanguage?

① It has some characteristics influenced by previously learned languages.

② It has been found to be systematic, but it is also dynamic.

③ Learner constructs a system of abstract linguistic rules which underlies

  comprehension and production of the L2.

④ Learners did not change their grammar from one time to another by adding rules, deleting rules, and restructuring the whole system.

⑤ Learner’s grammar is likely to fossilize.

4. Choose the best answer that is not matched examples of each stage about negation developmental sequence.   

① Stage 1  - No bicycle. I no like it. Not my friend.

② Stage 2  - He don’t like it. I don’t can sing.

③ Stage 3  - I can not cook. He don’t understand it.

④ Stage 4  - You can not go there. He was not happy. She don’t like rice.

5. Choose the best answer that is not matched between examples, category and errors. 

	
	foreign
	Korean
	Category
	Errors

	①
	불행 생각해요
	불행하다고 생각해요
	Omission
	Interlanguage

	②
	여자 사자
	암사자
	Addition
	Interlanguage

	③
	집 만들 수 없어요
	집 지을 수 없어요
	Over-generalization
	L1 transfer

	④
	그 뜻이가 아니야
	그 뜻이 아니야
	Addition
	Interlanguage

	⑤
	여름집
	별장
	substitution
	L1 transfer


True and false questions for chapter 3

Read these sentences and select the answer and mark the correct answer.

1. Mark Patkoswski hypothesized that, even if accent were ignored, only those who had begun learning their second language before the age of fifteen could ever achieve full.(true / false)

2. The characteristics are not independent of one another: learner variables interact in complex ways. (true / false)

Multiple choice questions for chapter 3

3. What is correct answer?(2)


1) attitude

2) learning styles

3) personality

4) learners belief

4. What is wrong connected answers?(2),(4)

1) intelligence-IQ scores were a good means of predicting success in second language learning.

2) Aptitude –Learner with high aptitude always learn with greater ease and speed.

3) Learning style-visual learner, aural learner ,kinaesthetic learner.

4) Personality extraverted person is always suited to language learning.

5. What is not correct answer about Motivation in Learner’s differences in Second language learning?(4)

1) It has been defined in terms of two factors; communicative needs, their attitude towards the second language community.

2) INSTRUMENTAL MOTIVATION and INTEGRATIVE MOTIVATION has shown motivation are related to success in SLA.

3) There are 3 steps in pedagogical practice.

4) In teacher’s mind, motivated students are usually who participate carefully in class whether they get great scores.

True and false questions for chapter 4

Look at these sentences and select the answer and mark the correct answer.

1. Among first language learners, the existence of developmental sequences may not seem surprising because their language learning is partly tied to their experiences about relationships among people.(true / false)

2. There were substantial differences in the interlanguage patterns of learners, in spite of the great variety in the first and second language combination.( true / false)

Multiple choice questions for chapter 4

3. What is inferred with this?(1)


1) CAH

2) Error analysis

3) Interlanguage

4) Fossilization

4. What is not correctly linked to each other?(1)

1) Developmental error : A second language is not an imperfect copy of the target language but a rule-governed linguist system in its own right.-error

2) Fossilization: Some features in a learner’s language may stop changing.

3) Error analysis: It’s goal was to discover what learners really know about the language.

4) L1 tansfer; the phenomenon of ‘avoidance’ is described appeared to be caused ay least in part by learner’s perception.
5) Pragmatics: The study of how language is used in context (to express such things as directness, politeness, and deference.)
5. What about this?(2)


1) fossilization

2) over generalization

3) omission

4) addition

Multiple choice Qs

1. Read the following passage and choose the correct answer. What is this?

	Closely related to and in some cases subsumed under the notion of self-esteem is the concept of this. All human beings, in their understanding of themselves, build sets of defenses to protect the ego.


1 imitation 

2 empathy

3 inhibition

4 cognition

         (③

2. What is this hypothesis?

	This hypothesis is that there is a time in human development when the brain is predisposed for success in language learning.


1 critical period hypothesis

2 interlanguage hypothesis

3 innateness hypothesis

4 cognitive hypothesis

         (①

3. Fill in the blank. What is the correct answer?

	               learners learn more effectively when they have time to consider new information before responding.

               learners learn more effectively when they can respond to new information immediately. As language learners they are risk takers.


1 left brain dominant-right brain dominant

2 visual –auditory

3 reflective-impulsive

4 field dependent-field independent

(③

True or False Qs

1. For a number of years, it was widely reported that there was a strong relationship between field dependence and success in second language learning. (  ) (F

2. Motivation in second language learning is a complex phenomenon. It has been defined in terms of two factors: on the one hand, learners’ personal needs, and, on the other, their attitudes towards the second language community. (  ) (F

Ch. 4 Multiple choice Qs

1. Find the number which has the correct answer in the blank.

	According to the             , errors were often assumed to be the result of transfer from learners’ first language.


1 error analysis

2 behaviorism

3 contrastive analysis hypothesis

4 discourse analysis

(③

2. What is this?

	 Larry Selinker gave the name this to learners’ developing second language knowledge. Analysis of a learner’s this shows that it has some characteristics influenced by previously learned languages, some characteristics of the second language, and some characteristics, such as the omission of function words and grammatical morphemes, that seem to be general and to occur in all or most this systems.


1 Error analysis

2 Development sequence

3 CAH

4 Interlanguage

           (④

3. Find the number which has the correct answer in the blank.

	This approach, which developed during the 1970s, became known as ‘        ‘ 

and involved detailed description and analysis of the kinds of errors second language learners make. According to ‘         ‘, when learners produce ‘correct’ sentences, they may simply be repeating something they have already heard ; when they produce sentences that differ from the target language, we may assume that these reflect the learners’ current understanding of the rules and patterns of that language. 


1 Error analysis

2 Contrastive analysis

3 Interlanguage

4 overgeneralization

(①
True or False Qs

1. The overall results of the studies suggested an order, while not identical to the developmental sequence found for first language learners, which was different among second language learners from different first language backgrounds. (  ) (F

2. There is no doubt that Stephen Krashen has asserted that the best source of vocabulary growth is reading for pleasure. (  ) (F

Chapter 3

1. ‘Intelligence’ has been used to describe an individual’s natural, habitual, and preferred way of absorbing, processing, and retaining new information and skills. (F) learning style 

2. Learner beliefs can be strong mediating factors in their experience in the classroom. (T)

3. It has been suggested that this discourages risk-taking, which is necessary for progress in language learning. This is often considered to be a particular problem for adolescents, who are more self-conscious than younger learners. 

① Inhibition 

② Anxiety

③ Aptitude

④ Stress

4. Which is not included for increased levels of motivation for students in relation to pedagogical practices.

① motivating students into the lesson

② varying the activities, tasks, and materials 

③ using co-operative rather than competitive goals

④ competitive interaction rather than co-operative

5. when you learn a second language, if the goal is basic communicative ability for all students in an educational system, and when it is assumed that the child’s native language will remain the primary language, when is the appropriate period to learn second language?

① same time as a native language

② before learning a native language

③ later than a native language

chapter 4

1. All errors made by second language learners can be explained in terms of first language transfer alone. (F)

2. Most everyday conversation requires a far smaller number, something more like 5,000 words. (F) 2,000

3. As a result of the finding that many aspects of learners’ language could not be explained by the CAH, which one is involved detailed description and analysis of the kinds of errors second language learners make ?

① Error analysis

② contrastive analysis

③ predictive analysis

④ connective analysis

4. Which is not involved in explaining ‘Interlanguage’?

① it has some characteristics influenced by previously learned languages

② it has been found to be systematic, but it is not dynamic

③ it has some characteristics influenced by the second languages

④ the omission of function words and grammatical morphemes

5. what is the study how language is used in context to express such things as directness, politeness, and deference and need to learn to recognize the many meanings that the same sentence can have in different situations?

① pragmatics

② morphology

③ syntax

④ phonology

Ture  or  False.

1. Children eventually master their first language. – (T)

2. The term ‘intelligence’ has traditionally been used to refer to knowledge on certain kinds of test. – (F)

3. Learner pleasure has been extensively investigated – (F)

4. Second language learners don’t pass through sequences of development like first language. – (F)

5. Accessibility hierarchy it reflects the apparent ease with which learners have ‘access’ to certain structures in the target language. – (T)

Multiple Questions.

1. Which is not learning style? (4)

① perceptually

② Visual learner

③ Aural learner

④ Passive learner

2. Which is not affect to social dynamic or power relationship between the languages? (3)

① attitudes

② motivation

③ useful conversation

④ language learning success

3. What is this? “This may be especially true for learners whose exposure to the second language does not include instruction or the kind of feedback that would help them to recognize differences between their inter language and the target language”. (2)

① automatism

② fossilization

③ corrosion

④ erosion

4. What is this? “A simplified version of this would predict, where differences exist, errors would be bi-directional.” (1)

① contrastive analysis

② inter language

③ error analysis

④ Passive determiners

5.  Which is not vocabulary development? (2)

① Frequency

② Pragmatics

③ Borrowed words

④ Congate

Ch. 3

1. Which learner learns foreign language faster than other?(2) (P72)

1 younger leaner

2 adolescent learner

3 adult learner

2. The term ‘learning style’ has been used to describe an individual’s natural habitual and preferred way of absorbing, processing and retaining new information and skills (T/F)(p59)

3. Which one is not helpful to improve motivation in the classroom? (4)(P65)

1 Teacher arranges cultural and age differences class

2 Using co-operative rather than competitive goals

3 Remarks teachers make about forthcoming activities can lead to higher level of interest

4 Make lesson which always consist of the same routines, patterns and formats, so students anticipate what is going to happen.

4. Some studies of the second language development of older and younger learners, learning in similar circumstances, have shown that at least in the early stages of second language development, older learner are more effective than younger leaner (T/F)(p69)

5. What should be considered when determining when to have a child students begin an L2 language program? (2)(p73)

1 Critical period hypnosis

2 The belief-the younger is better 

3 The goal of the language learning

4 Attitude, motivation and appropriate social condition for learning

Ch. 4

1. Please find the incorrect definition (4) (p. 83-84)

1 Obligatory context-the place in a sentence where the morpheme is necessary to make the sentence grammatically correct.

2 Accuracy order- An accuracy score is created for each morphemes, this can be ranked from highest to lowest.

3 Krashen’s acquisition sequence: 

I. ing, plural, copula 

II. auxiliary, article

III. irregular past

IV. regular past, third person singular, possessive’s

4 how language is used in context to express such things as directness, politeness, and deference

2. What are the correct explanations about contrastive analysis? Choose all the correct answers (P79) (1,2)

1 All errors made by second language learners can be explained in terms of first language transfer alone.

2 Error would be bi-directional

3 Some feature of language learner may stop changing.

4 Many aspect of learner’s language could not be explained by CHA

3. The main difference between CHA and error analysis is error analysis did not set out to predict learner errors.(T/F)(p.80)

4.  What is the threshold vocabulary level that one needs to be able to handle everyday conversation?(1) (P97-98)

1 2,000 words

2 10,000words

3 20,000words

4 200,000words

5. Krashen has asserted that the best source of vocabulary growth is listening.(T/F)(p.100)

-Multiple choice questions-

1) Individual learner’s natural habitual, and preferred way of acquiring language are described as_____________. Which of the below should come to the blank? 


① Learning style.


② They Personality


③ Learner beliefs

④Motivation.

2) According to Grahm Crookes & Richard Schmidt, how can teachers increase students’ levels of motivation?

① Start the lesson with fun activities to participate the students and let them know the objectives at the end of the lesson.


② Activities, tasks, and materials should be variable, often newly changed.


③ Teachers should be centered so that the students feel dependant and comfortable.


④Have students do some activities in which they can compete each other and get awards.

3) What was the result about the relationship between age and L2 in Patkowski’s test (study)? 

① Those who immigrated to U.S in puberty and learned English for more than 5 years can use native like language.

② Those who learned English before puberty are more likely to speak like native speakers.

③ Learning English as second language, even though they were exposed to it in pre-puberty, learners cannot be successful being exactly like native speakers.

④Those who learned English in puberty can have as many possibilities to pronounce like native speakers as those who learned English earlier(before puberty).

-True/False questions.-

4) In terms of Intelligence among the learners’ differences, IQ test is helpful to measure learners’ communicative ability. (T / F)

5) Firstly, children learn second language faster than adults. (T / F)

Chapter4.

-Multiple choice questions-

1) Which of the error are assumed in CAH?


① transfer errors


② developmental errors


③ generative errors

2) Which of the following errors in the sentences are characterized as developmental errors?


① My pocket has some money.


② Mom is in the chicken 


③ Many people has brothers.

3) What did Krashen have suggested to increase the encounter of vocabulary?


① Learners need different kinds of activities to use the new words.

②Learners need to write some new words separately on their notebook and repeatedly read it.

③Learners need a lot of extensive readings.


-True/False questions-

4) Fossilization is the term meaning that some features of errors in a learner’s second language may stop changing. (T / F)

5) Before teaching receptive skills of approximately 45minutes of class, 6-10 words are most appropriate of vocabularies for students to learn. (T / F)

* Chapter 3. Individual Differences in Second Language Learning

1. Which is not included in the way of increasing levels of motivation for students in relation to pedagogical practices?

1 Motivating students into the lesson

2 Varying the activities, tasks, and materials

3 Using co-operative rather than competitive goals 

4 Integrating cultural and age differences

2. (        ) has been used to describe an individual’s natural, habitual, and preferred way of absorbing, processing, and retaining new information and skills. 

What is proper in the blank?

1 Attitude 

2 Aptitude

3 Learning style

4 Learner belief

3. Which is not one of the characteristics that have been thought to contribute to successful language learning?

1 motivation

2 emotional quotient

3 learning preference
4 Intellectual ability
4. Early intensive exposure to the second language may not entail the loss or incomplete development of the child’s first language. ( T / F )

5. Critical Period Hypothesis is that there is a time in human development when the brain is predisposed for success in language learning. ( T / F )

* Chapter 4. Learner Language

1. What is the error caused by trying to use a rule in a context where it does not belong?

1 Omission     

2 Substitution

3 Addition

4 Overgeneralization

2. (        ) is the study of how language is used in context to express such things as directness, politeness, and deference. 

What is proper in the blank?

1 Contrastive Analysis     

2 Interlanguage

3 Pragmatics  

4 Phonology

3. Stephen Krashen has asserted that the best source of vocabulary growth is reading for (      ).

What is proper in the blank?

1 knowledge   

2 pleasure

3 memory
4 work
4. Contrastive analysis differed from Error analysis in that it did not set out to predict errors. ( T / F ) 

5. Fossilization means that some features in a learner’s language may stop changing. ( T / F )

6. There are various way to learn second language which is not considered during the learning of learning second language?

a. Intelligence   b. aptitude    c. age   d. personality  

e.parents’ devotion especially for young learners  

7. What is wrong?

   a.IQ
 test may be more strongly related to metalinguistic knowledge than to communicative ability

   b.Individuals have ‘multiple intelligence’ and learning language is certain part of whole language

   c. Someone’s worse academic preference is usually good ,find themselves successful

   d.A number of personality characteristics have been proposed as likely to affect second language learning.

   e.The older learnes have strong belief and opinions about how their instruction should be delivered

8. What is advantage of young learner to learn second language?

    a. pronunciation     b.syntax   c.morphology  morpheme 

 d.learning speed   e.sentence translation 

9. The earlier the learners learn second language ,the better they are successful.

10. Intelligence is very important factor to learn second language.

1. what is not characteristics of inter language error?

a. omission  of function word

b. systematic and dynamic

c. fossilization

d. omission of grammatical morphemes

e. independence from first language

2. What error is it?

**it reflect learners understanding of the second language system itself rather than an attempt to transfer characteristics of their first language.

**The error caused by trying to use a rule in a context. Where it doesn’t  belong to the factor.

a.  developmental errors-substitution

b  L1 transfer errors –ommission

c. Inter language – over generalization

d. developmental error-generative

e.  transfer error – substitution

3. When the second language learners learn the vocabulary, what they need  before becoming fully establish in memory?

a. Need to many meaningful encounter with new words

b. Kinds of Word test

c. Teacher’s repetition

d. Research of all different meaning

e. Don’t need any kinds acts

4. The development errors are often arisen  while adult learners learn second language.

5. Pragmatic is the study of how language is used I context to express such things as directness, politeness, and deference.  

Chapter 3 Individual differences in second language learing

* Multiple questions

1. What of the several characteristics related to good learners’ is the example mentioned below? 

(5)

[Example] 

It’s characteristics have been proposed as likely to affect second language learning, but it has not been easy to demonstrate their effects in empirical studies. 

It has been suggested that inhibition discourage risk-taking, which is necessary for progress in language learning. 

1 Intelligence

2 Aptitude

3 Learning styles

4 Motivation and attitudes

5 Personality
2.  Graham Crooks and Richard Schmidt(1991) point to several areas where educational research has reported increased levels of motivation for students in relation to pedagogical practices.

Which is the wrong sentence out of the following? (1)

1 Motivating students into the lesson At the opening stages of lessons, it has been observed that remarks teachers make about forthcoming activities can lead to lower levels of interest the part of the students.

2 Varying the activities, tasks, and materials Student are reassured by the existence of classroom routine they can depend on.

3 Using co-operative rather than competitive goals Co-operative learning activities are those in which students must together in order to complete a task or solve a problem.

4 Cultural and age differences will determine the most appropriate way for teachers to motivate students.

3. Who is ‘He’ or ‘His’ in the following example?

[Example] 

‘He’ studied the relationship between age and the acquisition of features of a second language other than accent. He hypothesized that, even if accent were ignored, only those who had begun learning their second language before the age of fifteen could ever achieve full, native-like mastery of that language. The main question in ‘His’ research was : ‘Will there be a difference between learners who began to learn English before puberty and those who began learning English later?’ (4)

1 Neil Naiman and colleagues(1995) 

2 Bonny Norton and Kelleen Toohey(2001)

3 John Carroll(1991)

4 Mark Patkowski(1980)

* True or False Questions

4. 

There is strong evidence that there are maturational constraints on language acquisition. It is also the case that reaching high levels of second language proficiency involves aptitude, motivation, and the appropriate social conditions for learning. (T)

5.

Age is one of the characteristics that determine the way in which an individual approaches second language. But the opportunities for learning, the motivation to learn, and individual differences in aptitude for language learning are also important determining factors that affect both rate of learning and eventual success in learning. (T)

Chapter 4 Learner Language

* Multiple questions

6. Which is wrong about the ‘New errors’ which based on an emerging ability to extend a particular grammatical form beyond the specific items? 4

1 An increase in error may be an indica-=-09tion of progress

2 Usually, L2 learners apply the regular simple past –ed marker. To irregular past tense forms.
3 The learner who says ‘buyed’ has provided evidence of developing knowledge of systematic a aspect of English.

4 Teachers and researchers must infer what learners know by observing what they do, since they cannot read learners’ behaviors

7. What sentence is correct about the ‘Contrastive Analysis Hypothesis’? 4

1 Errors were often assumed to be the course of transfer from learners’ first language.

2 Some of the errors are remarkably different to those made by young first language learners.

3 The CAH would predict that, where differences exist, errors would be bi-directional, that is, for example, both French and English would make errors on subordinate linguistic features.

4 The CAH would predict that a native speaker of English might make the error of saying.

8. The following lists are about a sequence in the acquisition of questions. Which is the correct sequence in order? 3

[Lists]   eq \o\ac(○,A) Declarative word order, no inversion, no fronting. 

 eq \o\ac(○,B) Complex questions.

 eq \o\ac(○,C) Single words, formulae, or sentence fragments.   

 eq \o\ac(○,D) Inversion in wh- + copula ; ‘Yes/no’ questions with other auxiliaries. 

 eq \o\ac(○,E) Fronting: do- fronting ; wh-fronting, no inversion, other fronting.

 eq \o\ac(○,F) Inversion in wh- questions with both an auxiliary and a main verb.

Stage1 - Stage2 - Stage3 - Stage4 - Stage5 - Stage6

1    eq \o\ac(○,A)       eq \o\ac(○,B)       eq \o\ac(○,C)        eq \o\ac(○,D)       eq \o\ac(○,E)       eq \o\ac(○,F)
2    eq \o\ac(○,B)       eq \o\ac(○,D)       eq \o\ac(○,C)        eq \o\ac(○,E)       eq \o\ac(○,F)       eq \o\ac(○,A)
3    eq \o\ac(○,C)       eq \o\ac(○,A)       eq \o\ac(○,E)        eq \o\ac(○,D)       eq \o\ac(○,F)       eq \o\ac(○,B)                         

4    eq \o\ac(○,D)       eq \o\ac(○,A)       eq \o\ac(○,E)        eq \o\ac(○,C)       eq \o\ac(○,F)       eq \o\ac(○,B)               

5    eq \o\ac(○,F)       eq \o\ac(○,E)       eq \o\ac(○,D)        eq \o\ac(○,A)       eq \o\ac(○,C)       eq \o\ac(○,B)
* True or False Questions

9. The first language may influence learner’s interlanguage in other ways as well. The phenomenon of ‘avoidance’ that Jacquelyn Schachter(1974) described appeared to be caused at least in part by learners’ intuition. ( F )

10. Interlanguage have been found to by systematic, but they are also dynamic-continually evolving as learners receive more input and revise their hypotheses about the second language. (T)

Chapter 4

1. Which one is not an obligatory context of the sentence? (p.83)

	   Yesterday I played baseball for two hours.


a. Yesterday

b. played

c. two hours

d. two

 

 2. Which one can NOT be a necessary factor which effects vocabulary learning? (pp.96~100)

a. the length of vocabulary

b. the frequency of being exposed of vocabulary to learner.

c. the presence of cognates

d. clear resemblance to their translation equivalent in other language

 

 3. Which one is hardly categorized as a developmental sequence? (pp.82~92)

a. grammatical morphemes

b. negation

c. questions

d. relative caluses

  

T/F (p.82)

Developmental sequences are similar to those observed in the first language acquisition.

-> True

 

T/F (p.83)

The "Accuracy order" is similarly found among second language learners from different first language background. -> True 

Chapter 5

 

1. Which one is NOT the characteristic of the communicative instructional settings? (p.113)

a. Errors are frequently corrected.

b. Variety discourse types may be introduced.

c. There is little pressure to perform at high levels of accuracy.

d. Input is simplified and made comprehensible.

 

2. Which one can NOT be mostly found in a structure-based class? (p.120)

a. display questions

b. error correction

c. focus on correct grammar

d. genuine questions

 

3. Which one can NOT be found from the conversation? (p.119)

	  

Teacher : What are you doing?

Student : Nothing.

Teacher : Can you make any sentences with ~ing?

 


a. The intention of the teacher's first question can be misinterpreted by the Student.

b. It's a genuine question.

c. The teacher wanted to see Student's understanding of what he/she learned.

d. There is a metalinguistic comments.

 

T/F  (p.109)

In the structure-based instructional environments, the focus is on the language itself 

rather than on the meaning. -> True

 

T/F (p.130)

Teachers have been encouraged to ask more display questions because they are thought to require more cognitive procession and to generate more complex answer. -> False

Fourth step : ? 





1 – We didn’t do homework.


2 – No bike. Not my friend.


3 – She don’t like flower.


4 – I don’t can sing.








<A> At the opening stages of lessons (and within transitions), it has been observed that remarks teachers make about forthcoming activities can lead to higher levels of interest on the part of the students. 





<B> Students are reassured by the existence of classroom routines they can depend on. However, lessons that always consist of the same routines, patterns, and formats have been shown to lead to a decrease in attention and an increase in boredom. Varying the activities, tasks, and materials can help to avoid this and increase students’ interest levels. 





<C> Co-operative learning activities are those in which students must work together in order to complete a task of solve problem. These techniques have been found to increase the self-confidence of students, including weaker ones, because every participant in a co-operative task has an important role to play. Knowing that their team-mates are counting on them can increase students’ motivation.  








a - Varying the activities, tasks, and materials


b – Using co-operative rather than competitive goals 


c - Motivating students into the lesson








If learners need to speak the second language in a wide range of social situations or to fulfill professional ambitions, they will perceive the communicative value of the second language and will therefore be motivated to acquire proficiency in it. 





Because anxiety is often considered to be a negative term, some researchers have chosen to use other terms they consider to be more neutral. In an ethnographic study of young adults learning French in an intensive summer programme, Guy Spielmann and Mary Radnofsky (2001) use the term  tension . They found that tension   , as experienced by the learners in their study, was perceived as both beneficial and detrimental and that it was also related to the learners’ social interactions inside and outside the classroom. 





Korean and Japanese learners of English often have problems hearing and producing l and r because these sounds are not distinct in their language.


French speakers may place stress on the last syllable of a word because French usually stresses the last syllable.  


Spanish speakers will often say ‘I e-speak e-Spanish’ because Spanish words do not have consonant clusters beginning with s at the beginning of a word. 





One of the controversial issues in pronunciation research is whether ____ (A)_____ rather than native-like ability is the standard that learners should strive toward. Studies of relationships between English native speakers’ perceptions of foreign accent, their perceptions of comprehensibility, and their actual ability to understand non-native utterances show clear relationships among all three. However, it is also evident, as Murray Munro and Tracey Derwing (1995) suggest, that the presence of a strong foreign accent does not necessarily result in reduced _____(A)____ or comprehensibility. 





Interlanguages have been found to be systematic, but they are also dynamic, continually evolving as learners receive more input and revise their hypotheses about the second language. Learners have bursts of progress, then seem to reach a plateau for a while before something stimulates further progress. Selinker also coined the term ____________ to refer to the fact that, some features in a learner’s language may stop changing. This may be especially true for learners whose exposure to the second language does not include instruction or the kind of feedback that would help them to recognize differences between their interlanguage and the target language. 





The term “___________”has been used to describe an individual’s natural, habitual and preferred way of absorbing, processing and retaining new information skills. 








Where differences exist, errors would be bi-directional , If L2 acquisition is disturbed by the habits of your native language, it is reasonable to focus on the differences between native and target language.








This errors caused by trying to use a rule in a context where it does not belong, for  example, the-s ending on the verb in ‘they’ plays        .                          











